Analyze the Graph
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Time (months)

x-intercepts:

y-intercepts:

Is it a function?

Domain (use set builder notation):

Range (use interval notation):

Find f(3)

Find £(16)

How many times does the horizontal
line y = 2 intersect the graph?

List the approximate values of x for which

f(x)=1.

16 18

10. Evaluate 3f(0) = 2f(13)

Q11 & 12: Consider the interval [0, 13]

11. Find the average rate of change.

12. Find the relative maximum value.

13. Where is the graph increasing? Use
interval notation.

14. Where is the graph decreasing? Use
interval notation.
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0 1. Zeroes :
v = hiz)
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2. Y-intercept:
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10l 3. Is the graph a function? Why or
why not?
} + 4 + + + > r
3 4 Al L I 4. Domain (use interval notation):
204 5. Range (use set builder notation)
-304 6. Whereis f(x) >0 ?
01 7. Whereis f(x) €0 ?
v
v
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ol 1. Find f(3).
L : 2. Where is the function increasing?
L ‘ (use interval notation) .
50+
w0+ 3. Where is the function decreasing?
CCN : (use interval notation)
01 4. Find 3 x f(3).
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——— e e X 5. How many times does the liney =1
4 3 X 1123 cross the graph?
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ol 6. Describe the end behavior. _
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| 1. On what intervals is the graph
constant?
2. What is the domain?
K 3. What is the range?
R T TR N 4. What is the maximum?
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A 5. What is the minimum?
et
S 6. For what value of x does f(x) = 1? .
bt




)(egf)

Analyze the Graph

T T T T T T
} LT d
NENBRRN 1 |
U S S .0 O S W S O
Tww A
> L 3 et 5..4,,_,5.. e
: ¢\ A Q O S 4 ,
. I N : i i
\ H 1
: L
G
¢ .
3

IRREShS

| P !

T

0 2 4 6 8 10 12 14 16 18

Tlme (months)
1.1 15
e

x-intercepts: 10. Evaluate 3f(0) —2f(13)

None I, 7,_3\
y-intercepts: fh 25 ggls’)
Q11 & 12: Consider the interval [0, 13]

Is it a function? \‘XZS 11. Find the average rate of change
Conns) (13, 95)

Domain (use set builder notation):
ix | 0¢ x< lﬁ%

Range (use interval notation):
(75, 3]

2.5

12. Find the relative maximum value.

2.5

Find f(3)

13. Where is the graph increasing? Use
interval notation.

.S (0.3) « (13,1%)

Find £(16)

How many times does the horizontal

line y = 2 intersect the graph? 14. Where is the graph decreasing? Use
3 interval notation.

List the approximate values of x for which ( g | \3)

fx) =1
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1.Zerces: -4, O o
2. Y-intercept: O

3. Is the graph a function? Why or L
<

h t? - oAl h A0y
or s - e g 1%

4. Domain (use interval notation): (_‘_94’ a)

5. Range (use set builder notation) EU\ ye ¢§
6. Whereis f(x) > 0 ? (-0,-9) ¢ (o, 4)

7. Where is fi@@)'=0%% [,._,’ o‘l + [4,00)

1.Findf3). O

2. Where is the function increasing?
(use interval notation) (o0 ,-35) & {-l, 2.5) .

3. Where is the function decréasing?
(use interval notation) (-’3_5’ -ﬁ < (25, oo)

4.Find £ <Y Ay - ©

5. How many times does the line y = 10
cross the graph? H
s xdoo F(x) 322
6. Describe the end behavior. " A x5 ~og, f(x)? -2
' Find the av(mag rere of C"\Cr\aa
on 4he inderval (1,31

Exrten prhf , N ds
‘ -1, -2 28) 90 Jo (8
N4 m ( ) ‘D ( 5; ‘D ’-——‘53 (- 9 2

1. On what intervals is the graph constant?
(use interval notation) (_“ 3)

2. What is the domain? (use set notation) Ex\ -b2 x< ('g
3. What is the range? (use interval notation) [\, b]
4. What is the maximum? (,

5. What is the minimum? 4 .

6. For what value of x does f(x) =1? - (o



